








Seven persons- K,L,M,N,O,P and Q 

were born in different years – 1969, 

1973, 1978, 1982, 1988, 1990 and 1995 

but not necessarily in the same order. 

The age difference between P and O is 

a perfect cube number. The number of 

persons born after O is same as the 

number of persons born before N. K is 

older than Q. The difference between 

the age of N and B is a prime number. 

Age of each person is calculated on the 

base year 2022. M is two years elder 

than O. B born in 1978.

सात व्यक्ति- K, L, M, N, O, P और Q का

जन्म अलग-अलग वर्षों - 1969, 1973, 1978, 

1982, 1988, 1990 और 1995 में हुआ था, 

लेक्तकन जरूरी नहीं क्तक इसी क्रम में ह।  P और O 

के बीच आय ुका अंतर एक परू्ण घन संख्या ह।  O 

के बाद प।दा हुए व्यक्तिय। की संख्या N से पहले 

प।दा हुए व्यक्तिय। की संख्या के समान ह।  K, Q से

बडा ह।  N और B की आय ुके बीच का अंतर एक 

अभाज्य संख्या ह।  प्रत्येक व्यक्ति की आय ुकी 

गर्ना वर्षण 2022 के आधार पर की जाती ह।  M, 

O से दो वर्षण बडा ह। B 1978 में प।दा हुआ।



Seven persons- K,L,M,N,O,P and Q 

were born in different years – 1969, 

1973, 1978, 1982, 1988, 1990 and 1995 

but not necessarily in the same order. 

The age difference between P and O is 

a perfect cube number. The number of 

persons born after O is same as the 

number of persons born before N. K is 

older than Q. The difference between 

the age of N and B is a prime number. 

Age of each person is calculated on the 

base year 2022. M is two years elder 

than O. B born in 1978.



N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

How many such symbols are there in the above series which is immediately 

followed by a consonant and immediately preceded by vowel? 

उपरोि शं्रखला में ऐसे क्तकतने प्रतीक हैं क्तजनके ठीक बाद एक व्यंजन और ठीक पहले स्वर ह।?

1. Two 

2. Three 

3. One 

4. Four 

5. None of these



N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

If we remove all the symbols from the above series then which 
among the following alphabet is the 9th from the right end? 
यक्तद हम उपरोि श्ररंखला से सभी प्रतीक। को हटा दें तो क्तनम्नक्तलक्तखत में से कौन सा अक्षर दायें 

छोर से 9वां ह।?

1. R 2. Q 3. D 4. A 5. None of these



N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

Which among the following elements is 5th to the left of 7th 
from the right end of the series? 
क्तनम्नक्तलक्तखत में से कौन सा तत्व श्ररंखला के दाएं छोर से सातवें के बाएं से पांचवां तत्व ह।?

1. T 2. A 3. & 4. @ 5. None of these



N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

How many such vowels are in the series given each of which is 
immediately followed by symbol and immediately preceded by a 
letter? 
दी गई श्रंखला में ऐसे क्तकतने स्वर हैं क्तजनमें से प्रत्येक के ठीक बाद प्रतीक और ठीक 

पहले एक अक्षर ह।?

1. Two 2. One 3. Three 4. Four 5. Five



N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

If all the symbols are replaced with a digit 5 then how many such 
5’s are there in the new series each of which is followed by a 
consonant? 
यक्तद सभी प्रतीक। को अकं 5 से बदल क्तदया जाता ह।, तो नई श्ररखंला में ऐसे क्तकतने 5 हैं क्तजनमें 

से प्रत्येक के बाद एक व्यंजन ह।?

1. Five 2. Six 3. Four 4. Eight 5. Two



Statements : 

A = B ≥ C = D ≥ E = F

Conclusions : 

I.  A ≥ F

II.  A = F



Statements:

T < S < O = P = J > G > H ≥ A

Conclusions:

I. P > T

II. A < O



Statements : 

T > A = M < X, R ≥ Y, D ≥ N = T

Conclusions : 

I. A < R

II. D > M 



Statements : 

T > N < V = L ≤W < K, V = H > I > F

Conclusions :

I. V > F

II. T > H



Statements: 

X < A ≤ H ≤ B; J = K; K ≤ B

Conclusions:

I. B ≥ J

II. X < K



In a Certain code SPOT is written as 10762 , than find the code 

for FARM ?

एक निनित कोड में SPOT का कोड 10762 निखा गया है , तो FARM का

कोड क्या होगा ?

(1) 611813

(2) 6194

(3) 6914

(4) 4691



In a Certain code READ is written as 7 , than find the code for

HEAR ?

एक निनित कोड में READ का कोड 7 निखा गया है , तो HEAR का कोड

क्या होगा ?

(1) 32

(2) 33

(3) 7

(4) 8



Statements :

Only a few flutes are drums.

All drums are pianos.

Only a few pianos are Melody.

Conclusions:

I. Some drums are melody.

II. No drums are melody

कथन : 

केवल कुछ बांसरुी ड्रम हैं  

सभी ड्रम क्तपयानो हैं  

केवल कुछ क्तपयानो मलेोडी हैं  

क्तनष्कर्षण: 

I. कुछ ड्रम मलेोडी हैं  

II. कोई ड्रम मेलोडी नहीं ह।



Statements :

Only a few flutes are drums.

All drums are pianos.

Only a few pianos are Melody.

Conclusions:

I. Some drums are melody.

II. No drums are melody



Statements :

Only a few tables are blue.

Only a few blue are clever.

All clever is old.

Conclusions :

I. Some tables are clever is a 

possibility.

II.   Some old are tables

कथन : 

केवल कुछ टेबल ब्ल ूहैं. 

केवल कुछ नीले चतरु हैं  

सभी चतरु वरद्ध हैं  

क्तनष्कर्षण : 

I. कुछ टेबल के चालाक होने की 

संभावना ह। 

II. कुछ ओल्ड टेबल हैं



Statements :

Only a few tables are blue.

Only a few blue are clever.

All clever is old.

Conclusions :

I. Some tables are clever is a 

possibility.

II.   Some old are tables



Statements:

Some mango is guava

Some guava is Grapes

Some Grapes is orange 

Conclusions:

I. At least some orange is mango

II. Some Grapes is definitely 

mango

कथन: 

कुछ आम अमरूद हैं 

कुछ अमरूद अगंरू हैं 

कुछ ग्रेप्स ऑरेंज हैं 

क्तनष्कर्षण: 

I. कम स ेकम कुछ सतंरे आम हैं 

II. कुछ ग्रेप्स क्तनक्तित रूप स ेमैंगो हैं



Statements:

Some mango is guava

Some guava is Grapes

Some Grapes is orange 

Conclusions:

I. At least some orange is mango

II. Some Grapes is definitely 

mango



Statements: 

Some roses are pens. 

All pens are pencils. 

Some pencils are markers. 

Conclusions: 

I. some markers are pens. 

II. No marker is pen.

कथन: 

कुछ गलुाब कलम हैं  

सभी पेन पेंक्तसल हैं  

कुछ पेंक्तसल माकण र हैं  

क्तनष्कर्षण: 

कुछ माकण र पेन हैं  

कोई माकण र पेन नहीं ह। 



Statements: 

Some roses are pens. 

All pens are pencils. 

Some pencils are markers. 

Conclusions: 

I. some markers are pens. 

II. No marker is pen.



Statement: 

Only a few Cap is Hat 

Only a few Hat is Crown 

All Crown are Throne 

Conclusion: 

I. Some Hat is Throne is a 

possibility 

II. No Throne is Hat

कथन: 

केवल कुछ क। प ह।ट हैं 

केवल कुछ ह।ट क्राउन हैं 

सभी क्राउन थ्रोन हैं 

क्तनष्कर्षण: 

कुछ ह।ट के थ्रोन होने की सभंावना ह।

कोई क्तसहंासन टोपी नहीं ह।



Statement: 

Only a few Cap is Hat 

Only a few Hat is Crown 

All Crown are Throne 

Conclusion: 

I. Some Hat is Throne is a 

possibility 

II. No Throne is Hat



Statement: 

Only east is north 

Only a few east is south 

All south is west

Conclusion: 

I. Some north being west is a 

possibility 

II. Some east is north

कथन: 

केवल पवूण उत्तर ह। 

केवल कुछ पवूण दक्तक्षर् हैं

सभी साउथ वेस्ट ह। 

क्तनष्कर्षण: 

कुछ उत्तर के पक्तिम होने की सभंावना ह।

कुछ ईस्ट नॉथण ह।



Statement: 

Only east is north 

Only a few east is south 

All south is west

Conclusion: 

I. Some north being west is a 

possibility 

II. Some east is north



How many pair of letters are there in the word “CONDITION” which 

has as many letters (in both forward and backward direction) in 

between as they have in English alphabet series?

शब्द “CONDITION” में अक्षरों के ऐसे नकतिे युग्म हैं नििके बीच में उतिे ही अक्षर 

हैं (आगे और पीछे दोिों नदशाओ ंमें) नितिे उिके बीच अंगे्रिी वर्णमािा श्रंखिा में 

हैं?

1.Two

2.Three

3.Four

4.None of these

5.One



There are six members in a three-generation family i.e. P, Q, R, S, T and U. Among 

them two married couples and only two males. U is the mother in law of Q. P, who is 

unmarried and T are siblings. Q’s husband has only one child. R is the father of T. 

एक तीन पीढी के पररवार में छह सदस्य हैं अथाणत P, Q, R, S, T और U. उनमें से दो क्तववाक्तहत यगुल और 

केवल दो परुुर्ष हैं  U, Q की सास ह।  P, जो अक्तववाक्तहत ह। और T भाई-बहन हैं  Q के पक्तत की केवल एक 

संतान ह।  R, T का क्तपता ह। 

How is T related to S’s grandmother? 

T, S की दादी से क्तकस प्रकार संबंक्तधत ह।?

(a) Son 

(b) Father 

(c) Mother 

(d) Daughter 

(e) None of these 



Ram travels 8 km. towards North, then he turns to his right and walks 4 km. He 

again turns to his right and moves 5 km forward. Now in which direction is he 

from his starting point ?

राम 8 क्तकमी की यात्रा करता ह।  उत्तर की ओर जाता ह।, क्तिर वह अपने दायें मडुता ह। और 4 क्तकमी चलता 

ह।  वह क्तिर से अपनी दायीं ओर मडुता ह। और 5 क्तकमी आगे बढता ह।  अब वह अपने शरुुआती क्तबंद ुसे 

क्तकस क्तदशा में ह।?

(1) North

(2) South

(3) East                                                  

(4) West

(5) None of these



Seven people A, B, C, J, P, Q and R are 

sitting around a circular table, facing 

the centre, not necessarily in the same 

order. Person A is sitting exactly in 

between R and J. R is not sitting 

adjacent to C. B is not an immediate 

neighbour of P. Person C is sitting to 

the second right of J and C is sitting 

exactly between B and Q.

सात व्यक्ति A, B, C, J, P, Q और R 

एक वरत्ताकार मेज के चार। ओर कें द्र की

ओर मखु करके ब।ठे हैं, जरूरी नहीं क्तक 

इसी क्रम में  व्यक्ति A, R और J के ठीक 

बीच में ब।ठा ह।  R, C के आस-पास नहीं 

ब।ठा ह।  B, P का क्तनकटतम पडोसी नहीं 

ह।  व्यक्ति C, J के दायें स ेदसूरे स्थान पर

ब।ठा ह। और C, B और Q के ठीक बीच 

में ब।ठा ह। 



Seven people A, B, C, J, P, Q and R are 

sitting around a circular table, facing 

the centre, not necessarily in the same 

order. Person A is sitting exactly in 

between R and J. R is not sitting 

adjacent to C. B is not an immediate 

neighbour of P. Person C is sitting to 

the second right of J and C is sitting 

exactly between B and Q.



Seven persons- Asha, Tom, Jiya, Hira, Tua, 

Preet and Vina are living in a seven-storey

building, but not necessarily in the same 

order. The ground floor is numbered 1 and the 

floor above it is numbered 2, and so on, until 

the topmost floor is numbered 7.Vina lives on 

the lowermost floor. Only four people live 

between Vina and Asha. Tua lives on an even 

numbered floor. Only two people live 

between Tua and Preet. Tom, who is an 

immediate neighbour of Asha,lives on an odd 

numbered floor. Only two people live 

between Asha and Hira. Jiya lives on an even 

numbered floor, below Tua.

सात व्यक्ति- आशा, टॉम, क्तजया, हीरा, तआु, प्रीत और 

वीना एक सात मंक्तजला इमारत में रह रहे हैं, लेक्तकन जरूरी 

नहीं क्तक इसी क्रम में ह।  भतूल की संख्या 1 ह। और इसके 

ऊपर की मंक्तजल की संख्या 2 ह।, और इसी तरह, सबसे 

ऊपरी मंक्तजल की संख्या 7 ह।  वीना सबसे क्तनचली मंक्तजल 

पर रहती ह।  वीना और आशा के बीच केवल चार लोग 

रहते हैं  तआु एक सम क्रमांक्तकत मंक्तजल पर रहता ह।  तआु 

और प्रीत के बीच केवल दो व्यक्ति रहते हैं  टॉम, जो 

आशा का क्तनकटतम पडोसी ह।, एक क्तवर्षम संख्या वाली 

मंक्तजल पर रहता ह।  आशा और हीरा के बीच केवल दो 

व्यक्ति रहते हैं  क्तजया तआु के नीचे एक सम संख्या वाली

मंक्तजल पर रहती ह। 



Seven persons- Asha, Tom, Jiya, Hira, Tua, 

Preet and Vina are living in a seven-storey

building, but not necessarily in the same 

order. The ground floor is numbered 1 and the 

floor above it is numbered 2, and so on, until 

the topmost floor is numbered 7.Vina lives on 

the lowermost floor. Only four people live 

between Vina and Asha. Tua lives on an even 

numbered floor. Only two people live 

between Tua and Preet. Tom, who is an 

immediate neighbour of Asha,lives on an odd 

numbered floor. Only two people live 

between Asha and Hira. Jiya lives on an even 

numbered floor, below Tua.



An uncertain number of persons are sitting in a 

straight line facing north. Three persons sit 

between P and Q. R sits second to the right of P. 

Only three people sit between Q and S. T is 

immediate to the left of P. R sits fifth from the 

right extreme ends of the row. X sits on the 

extreme end of the row. As many people sit 

between R and U as many between U and S. Y 

sits second to the left of V, who is an immediate 

neighbor of Q. Not more than two persons sit 

between V and S. Five people sit between S and 

X. As many people sit between S and W as many 

between W and X.

व्यक्तिय। की एक अक्तनक्तित संख्या एक सीधी रेखा में 

उत्तर की ओर उन्मखु होकर ब।ठी ह।  P और Q के बीच 

तीन व्यक्ति ब।ठे हैं  R, P के दायें से दसूरे स्थान पर ब।ठा

ह।  Q और S के बीच केवल तीन लोग ब।ठे हैं  T, P के 

ठीक बायें ह।  R पंक्ति के दायें अंक्ततम छोर से पांचवें स्थान 

पर ब।ठा ह।  X पंक्ति के अंक्ततम छोर पर ब।ठा ह।  R और U 

के बीच उतने ही लोग ब।ठे हैं क्तजतने U और S के बीच 

ब।ठे हैं  Y, V के बाएं से दसूरे स्थान पर ब।ठा ह।, जो Q का 

क्तनकटतम पडोसी ह।  V और S के बीच दो से अक्तधक 

व्यक्ति नहीं ब।ठते हैं  S और X के बीच पांच व्यक्ति ब।ठते 

हैं  S और W के मध्य उतने ही व्यक्ति ब।ठे हैं क्तजतने W 

और X के मध्य ब।ठे हैं 



An uncertain number of persons are sitting in a straight line facing north. Three persons sit 

between P and Q. R sits second to the right of P. Only three people sit between Q and S. T is 

immediate to the left of P. R sits fifth from the right extreme ends of the row. X sits on the extreme 

end of the row. As many people sit between R and U as many between U and S. Y sits second to 

the left of V, who is an immediate neighbor of Q. Not more than two persons sit between V and S. 

Five people sit between S and X. As many people sit between S and W as many between W and X.



Five persons M,N,O,P and Z have different 

designations like Manager , PO, SO, Peon and 

Clerk in a Bank. The order of seniority is the 

same as given above i.e., Manger is the senior-

most designation and Peon is the junior-most 

designation. Each person has different number 

of bank checks– 19, 23, 35, 39 and 51 but not 

necessarily in the same order. O is junior to P. 

The one who has 39 Bank checks is just senior 

to Z . The one who has prime number of pens 

is not the senior most person but two 

designations senior to P. N is junior to the one 

who has 39 bank checks. The difference 

between the bank checks of Z and O is 4. P has 

12 bank checks more than M.

एक बैंक में पांच व्यक्तिय। M,N,O,P और Z के 

अलग-अलग पदनाम हैं ज।से म।नेजर, पीओ, एसओ, 

चपरासी और क्लकण   वररष्ठता का क्रम वही ह। जो ऊपर 

क्तदया गया ह। यानी, मंगर सबसे वररष्ठ पद ह। और 

चपरासी सबसे कक्तनष्ठ पदनाम ह।  प्रत्येक व्यक्ति के पास 

अलग-अलग संख्या में बैंक चेक हैं- 19, 23, 35, 39 

और 51 लेक्तकन जरूरी नहीं क्तक इसी क्रम में ह।  O, P 

से कक्तनष्ठ ह।  क्तजसके पास 39 बैंक चेक हैं, वह Z से 

ठीक वररष्ठ ह।  क्तजसके पास अभाज्य संख्या में पेन हैं वह 

सबसे वररष्ठ व्यक्ति नहीं ह। लेक्तकन P से दो पद वररष्ठ हैं  

N उस व्यक्ति से कक्तनष्ठ ह। क्तजसके पास 39 बैंक चेक हैं  

Z और O के बैंक चेक के बीच का अंतर 4 ह।  P के 

पास M से 12 बैंक चेक अक्तधक हैं



Five persons M,N,O,P and Z have different 

designations like Manager , PO, SO, Peon and 

Clerk in a Bank. The order of seniority is the 

same as given above i.e., Manger is the senior-

most designation and Peon is the junior-most 

designation. Each person has different number 

of bank checks– 19, 23, 35, 39 and 51 but not 

necessarily in the same order. O is junior to P. 

The one who has 39 Bank checks is just senior 

to Z . The one who has prime number of pens 

is not the senior most person but two 

designations senior to P. N is junior to the one 

who has 39 bank checks. The difference 

between the bank checks of Z and O is 4. P has 

12 bank checks more than M.



There are nine persons B, C, D, E, F, G, H, J 

and K are placed one above the another, but 

not necessarily in the same order. Four 

persons are placed between person E and 

person C and one of them are placed either at 

top or at bottom. Only one person is placed 

between C and F, which placed below the C. 

Three person are placed between G and H. H 

is placed neither just above nor just below C. 

Only one person is placed between H and K. 

Not more than two person are placed below 

the K. Only one person is placed between D 

B, which placed above J. E and K are not 

placed adjacent to each other. Either H or G 

placed at bottom. 

नौ व्यक्ति B, C, D, E, F, G, H, J और K एक के

ऊपर एक रखे गए हैं, लेक्तकन जरूरी नहीं क्तक इसी क्रम में 

ह।  व्यक्ति E और व्यक्ति C के बीच चार व्यक्ति रखे गए 

हैं और उनमें से एक या तो ऊपर या नीचे रखे जाते हैं  C 

और F के बीच केवल एक व्यक्ति रखा गया ह।, जो C के 

नीचे रखा गया ह।  G और H के बीच तीन व्यक्ति रखे गए 

हैं  H को न तो C के ठीक ऊपर और न ही ठीक नीचे 

रखा गया ह।  केवल एक व्यक्ति को H और K के बीच 

रखा गया ह।  दो से अक्तधक नहीं व्यक्तिय। को K के नीचे

रखा गया ह।  D B के मध्य केवल एक व्यक्ति रखा गया 

ह।, जो J के ऊपर रखा गया ह।  E और K एक दसूरे के 

आसन्न नहीं रखे गए हैं या तो H या G को सबसे नीचे 

रखा गया ह। 



There are nine persons B, C, D, E, F, G, H, J 

and K are placed one above the another, but 

not necessarily in the same order. Four 

persons are placed between person E and 

person C and one of them are placed either at 

top or at bottom. Only one person is placed 

between C and F, which placed below the C. 

Three person are placed between G and H. H 

is placed neither just above nor just below C. 

Only one person is placed between H and K. 

Not more than two person are placed below 

the K. Only one person is placed between D 

B, which placed above J. E and K are not 

placed adjacent to each other. Either H or G 

placed at bottom. 



Twelve members of a football team are sitting in two 

parallel rows containing six people each, in such a 

way that there is an equal distance between adjacent 

persons. In row-1 U, V, W, X, Y and Z are seated 

and all of them are facing south. In row-2 A, B, C, D, 

E and F are seated and all of them are facing north. 

Therefore in the given seating arrangement each 

member seated in a row faces another member of the 

outer row. X sits third to right of V, either X or V 

sits an extreme end of the line. The one who faces V 

sits second to right of E. Two people sits between B 

and F. Neither B nor F sits at an extreme end of the 

line. The immediate neighbor of B faces the person 

who sits third to left of U. W and Y are immediate 

neighbors of the each other. C sits second to the left 

of A. Y does not face the immediate neighbor of D.

एक िुटबॉल टीम के बारह सदस्य दो समानांतर पंक्तिय। में 

प्रत्येक में छह व्यक्ति इस प्रकार ब।ठे हैं क्तक आसन्न व्यक्तिय। के 

बीच समान दरूी ह।  पंक्ति-1 में U, V, W, X, Y और Z ब।ठे हैं 

और उन सभी का मखु दक्तक्षर् की ओर ह।  पंक्ति-2 में A, B, C, 

D, E और F ब।ठे हैं और उन सभी का मखु उत्तर की ओर ह।  

इसक्तलए दी गई ब।ठने की व्यवस्था में एक पंक्ति में ब।ठे प्रत्येक 

सदस्य का मखु बाहरी पंक्ति के दसूरे सदस्य की ओर ह।  X, V 

के दायें से तीसरे स्थान पर ब।ठा ह।, या तो X या V पंक्ति के 

अंक्ततम छोर पर ब।ठा ह।  वह व्यक्ति क्तजसका मखु V की ओर ह।, 

E के दायें से दसूरे स्थान पर ब।ठा ह।  B और F के मध्य दो व्यक्ति

ब।ठे हैं  न तो B और न ही F पंक्ति के अंक्ततम छोर पर ब।ठे हैं  B 

के क्तनकटतम पडोसी का मखु उस व्यक्ति की ओर ह। जो U के 

बायें से तीसरे स्थान पर ब।ठा ह।. W और Y एक दसूरे के 

क्तनकटतम पडोसी हैं. C, A के बायें से दसूरे स्थान पर ब।ठा ह।  Y 

का मखु D के क्तनकटतम पडोसी की ओर नहीं ह।  



Twelve members of a football team are sitting in two 

parallel rows containing six people each, in such a 

way that there is an equal distance between adjacent 

persons. In row-1 U, V, W, X, Y and Z are seated 

and all of them are facing south. In row-2 A, B, C, D, 

E and F are seated and all of them are facing north. 

Therefore in the given seating arrangement each 

member seated in a row faces another member of the 

outer row. X sits third to right of V, either X or V 

sits an extreme end of the line. The one who faces V 

sits second to right of E. Two people sits between B 

and F. Neither B nor F sits at an extreme end of the 

line. The immediate neighbor of B faces the person 

who sits third to left of U. W and Y are immediate 

neighbors of the each other. C sits second to the left 

of A. Y does not face the immediate neighbor of D.



Some boxes are stacked one above the 

other. Box D is placed below Box B but not 

immediately below Box B. Box D is placed 

exactly between Box J and Box K. Box E is 

placed above Box H. Box F is not kept 

adjacent to Box B. Box G is kept 

immediately below box K. Box I is not at 

the top of the stack. There are three boxes 

above box B. There are three boxes 

between J and I. There are two boxes 

between Box A and Box J. Box C is placed 

immediately above Box F. There are two 

boxes between box B and box K. There are 

two boxes between box G and Box F.

कुछ क्तडब्बे एक के ऊपर एक रखे हुए हैं  बॉक्स D को 

बॉक्स B के नीचे रखा गया ह। लेक्तकन बॉक्स B के 

ठीक नीचे नहीं रखा गया ह।  बॉक्स D को बॉक्स J 

और बॉक्स K के ठीक बीच में रखा गया ह।  बॉक्स E 

को बॉक्स H के ऊपर रखा गया ह।  बॉक्स F को 

बॉक्स B के क्तनकट नहीं रखा गया ह।  बॉक्स G को 

ठीक नीचे रखा गया ह।  क्तडब्बा K. क्तडब्बा I ढेर के 

शीर्षण पर नहीं ह।  बॉक्स B के ऊपर तीन बॉक्स हैं  J 

और I के बीच तीन बॉक्स हैं  बॉक्स A और बॉक्स J 

के बीच दो बॉक्स हैं  बॉक्स C, बॉक्स F के ठीक 

ऊपर रखा गया ह।  बॉक्स B और बॉक्स K के बीच 

दो बॉक्स हैं  क्तडब्बा G और क्तडब्बा F के मध्य दो 

क्तडब्बे हैं 



Some boxes are stacked one above the 

other. Box D is placed below Box B but not 

immediately below Box B. Box D is placed 

exactly between Box J and Box K. Box E is 

placed above Box H. Box F is not kept 

adjacent to Box B. Box G is kept 

immediately below box K. Box I is not at 

the top of the stack. There are three boxes 

above box B. There are three boxes 

between J and I. There are two boxes 

between Box A and Box J. Box C is placed 

immediately above Box F. There are two 

boxes between box B and box K. There are 

two boxes between box G and Box F.



Eight persons Paro, Runa, Sona, Kim,Harry, Ram, 

Geet and Monu are going for seven days holiday 

on different months of same year i.e. January, 

February, March, April, May, June, July and 

August. All information is not necessarily in same 

order. Harry goes in the month of August. Sona

goes in the month which has odd number of days. 

Geet goes just after the month in which Sona goes. 

Three persons goes between Monu and Sona. Runa

goes in the month which has even number of days 

but not in February. Two persons goes between 

Kim and Ram, who does not go in the month 

which have odd number of days. Ram does not go 

in February. Paro does not go after Kim. Monu

goes in the month of May . 

आठ व्यक्ति पारो, रूना, सोना, क्तकम, ह।री, राम, गीत और 

मोन ूएक ही वर्षण के क्तवक्तभन्न महीन। यानी जनवरी, िरवरी, 

माचण, अप्र।ल, मई, जनू, जलुाई और अगस्त में सात क्तदन। 

की छुट्टी पर जा रह ेहैं  जरूरी नहीं क्तक सभी जानकारी इसी 

क्रम में हो  ह।री अगस्त के महीने में जाता ह।  सोना क्तवर्षम 

क्तदन। वाले महीने में जाता ह।  गीत उस महीने के ठीक बाद 

में जाता ह। क्तजसमें सोना जाती ह।  मोन ूऔर सोना के बीच 

तीन व्यक्ति जाते हैं  रूर् उस महीने में जाता ह। क्तजसमें क्तदन। 

की संख्या सम होती ह। लेक्तकन िरवरी में नहीं  क्तकम और 

राम के बीच दो व्यक्ति जाते हैं, जो उस महीने में नहीं जाता 

ह। क्तजसमें क्तदन। की संख्या क्तवर्षम होती ह।  राम िरवरी में

नहीं जाता ह।  पारो क्तकम के पीछे नहीं जाती  मोनू मई के 

महीने में जाता ह। 



Eight persons Paro, Runa, Sona, Kim,Harry, Ram, 

Geet and Monu are going for seven days holiday 

on different months of same year i.e. January, 

February, March, April, May, June, July and 

August. All information is not necessarily in same 

order. Harry goes in the month of August. Sona

goes in the month which has odd number of days. 

Geet goes just after the month in which Sona goes. 

Three persons goes between Monu and Sona. Runa

goes in the month which has even number of days 

but not in February. Two persons goes between 

Kim and Ram, who does not go in the month 

which have odd number of days. Ram does not go 

in February. Paro does not go after Kim. Monu

goes in the month of May . 



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East

आठ कारें A, B, C, D, E, F, G और H एक 

क्तनक्तित दरूी के भीतर एक पाकण में हैं  कार A, कार 

B के 8 क्तकमी पवूण में ह।, जो कार D के 9 क्तकमी 

उत्तर में ह।  कार C, कार F के 5 क्तकमी दक्तक्षर् में ह।, 

जो कार G के 6 क्तकमी पक्तिम में ह।  कार G, कार 

A के 4 क्तकमी उत्तर में ह।  कार E, कार C के 8 

क्तकमी पक्तिम में ह।  कार H, कार E के 2 क्तकमी 

दक्तक्षर् में ह।  कार G, कार C के संदभण में क्तकस 

क्तदशा में ह।? 

1.उत्तर 

2. दक्तक्षर् 

3. पवूण 

4. दक्तक्षर्-पक्तिम 

5. उत्तर-पवूण



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East



Six boxes labelled as P, Q, R, S, T, U were kept in the 

form of a stack (vertical arrangement) but not 

necessarily in the same order. Each of the boxes is 

painted in a different colour. The colours of the boxes 

were orange, yellow, purple, indigo, red and blue but 

not necessarily in the same order. There are two 

boxes between S and T. S is immediately below the 

indigo box. There are two boxes between the red and 

purple boxes. P is kept immediately below the orange 

box. The colour of box Q is not red. T is not placed 

above S. Only blue box is kept between Q and the 

indigo box. The yellow box is kept third from the 

bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of 

the stack?

1.Q 2.U 3.S 4.T 5.P

P, Q, R, S, T, U के रूप में लेबल क्तकए गए छह 

बक्से एक स्ट।क (ऊध्वाणधर व्यवस्था) के रूप में रखे गए 

थे लेक्तकन जरूरी नहीं क्तक इसी क्रम में ह।  प्रत्येक बॉक्स 

को एक अलग रंग में क्तचक्तत्रत क्तकया गया ह।  बक्स। के रंग 

नारंगी, पील,े बैंगनी, नील, लाल और नीले थे लेक्तकन 

जरूरी नहीं क्तक इसी क्रम में ह।  S और T के मध्य दो 

क्तडब्बे हैं  S, नील के क्तडब्बे के ठीक नीचे ह।  लाल और 

बैंगनी बक्स। के बीच दो क्तडब्बे हैं  P को नारंगी क्तडब्बे के 

ठीक नीचे रखा गया ह।  क्तडब्बा Q का रंग लाल नहीं ह।  

T को S के ऊपर नहीं रखा गया ह।  Q और इकं्तडगो 

बॉक्स के बीच केवल नीला बॉक्स रखा गया ह।  पीले 

क्तडब्बे को ढेर के नीचे से तीसरे स्थान पर रखा गया ह।  

पीला बॉक्स U के नीचे रखा गया ह। 



Six boxes labelled as P, Q, R, S, T, U were kept in the 

form of a stack (vertical arrangement) but not 

necessarily in the same order. Each of the boxes is 

painted in a different colour. The colours of the boxes 

were orange, yellow, purple, indigo, red and blue but 

not necessarily in the same order. There are two 

boxes between S and T. S is immediately below the 

indigo box. There are two boxes between the red and 

purple boxes. P is kept immediately below the orange 

box. The colour of box Q is not red. T is not placed 

above S. Only blue box is kept between Q and the 

indigo box. The yellow box is kept third from the 

bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of 

the stack?

1.Q 2.U 3.S 4.T 5.P



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N

िोगों की तीि पीऩियां एक साथ रहती हैं। पररवार में

12 सदस्य हैं अथाणत। एम, एि, ओ, पी, क्यू, आर, एस,

टी, यू, वी, डब््यू और एक्स िो नपकनिक के निए

बाहर गए थे। R और Q, T और S के बच्चे हैं। V, िो

W का ससुर है, R का चाचा है। T का एक बेटा और

एक बेटी है। P, O का पनत है। O, Q की पुत्री है। M,

N का भाई है। R का नववाह U से हुआ है। N का नपता

U है, निसकी केवि एक पुत्री है। S, U का ससुर है।

W, X की पत्िी है।

पांच में से चार एक निनित तरीके से समाि हैं और

इसनिए एक समूह बिाते हैं। निम्िनिनखत में से कौि

समूह से संबंनित िहीं है?

Q P O M N



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table. One person sits 

between P and V. Two persons sit between V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits 

to the immediate right of R. W does not sit to the immediate left of P.

आठ व्यक्ति P, Q, R, S, T, U, V और W एक वगाणकार मेज के चार। ओर ब।ठे हैं, क्तजनमें से 

चार कोने पर ब।ठे हैं और शेर्ष मेज की भजुाओ ंके मध्य में ब।ठे हैं  उन सभी का मखु मेज के कें द्र की 

ओर ह।  P और V के बीच एक व्यक्ति ब।ठा ह।  V और S के बीच दो व्यक्ति ब।ठे हैं  P मेज के कोने

पर ब।ठा ह।  U, T के ठीक बायें ब।ठा ह।  R, T के दायें से दसूरे स्थान पर ब।ठा ह।  Q, R के ठीक 

दायें ब।ठा ह।  W, P के ठीक बायें नहीं ब।ठा ह। 



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table. One person sits 

between P and V. Two persons sit between V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits 

to the immediate right of R. W does not sit to the immediate left of P.



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N

िोगों की तीि पीऩियां एक साथ रहती हैं। पररवार में

12 सदस्य हैं अथाणत। एम, एि, ओ, पी, क्यू, आर, एस,

टी, यू, वी, डब््यू और एक्स िो नपकनिक के निए

बाहर गए थे। R और Q, T और S के बच्चे हैं। V, िो

W का ससुर है, R का चाचा है। T का एक बेटा और

एक बेटी है। P, O का पनत है। O, Q की पुत्री है। M,

N का भाई है। R का नववाह U से हुआ है। N का नपता

U है, निसकी केवि एक पुत्री है। S, U का ससुर है।

W, X की पत्िी है।

पांच में से चार एक निनित तरीके से समाि हैं और

इसनिए एक समूह बिाते हैं। निम्िनिनखत में से कौि

समूह से संबंनित िहीं है?

Q P O M N



Three generations of people live together. 

There are 12 members in the family viz. M, 

N, O, P, Q, R, S, T, U, V, W and X who 

went out for a picnic. R and Q are kids of T 

and S. V, who is the father in law of W, is 

the paternal uncle of R. T has a son and a 

daughter. P is the husband of O. O is the 

daughter of Q. M is the brother of N. R is 

married to U. Father of N is U who has only 

one daughter. S is the father in law of U. W 

is the wife of X.

Four of the five are alike in a certain way 

and hence form a group. Which one the 

following doesn’t belong to the group?

Q P O M N



Ten persons, J, K, L, M, N, O, P, Q, R, and S 

attend the conference on different dates, 17th, 

and 28th of different months, January, March, 

June, September, and November in a year. K 

attends before R but not in January. R attends 

before N. S attends before Q and both attend on 

the same date. J attends the conference on the 

17th of a month having 31 days. Three persons 

attend the conference between J and N. Four 

persons attend the conference between N and 

M, who attend the conference before J. The 

number of persons attending the conference 

after M is equal to the number of persons 

attending before L. One person attends the 

conference between N and P.

दस व्यक्ति, J, K, L, M, N, O, P, Q, R, और S क्तवक्तभन्न 

महीन।, जनवरी, माचण, जनू, क्तसतंबर, और नवंबर की क्तवक्तभन्न 

क्ततक्तथय।, 17 और 28 को सम्मेलन में भाग लेते हैं  साल  K, 

R से पहले भाग लेता ह। लेक्तकन जनवरी में नहीं  R, N से 

पहले उपक्तस्थत होता ह।  S, Q से पहले उपक्तस्थत होता ह। 

और दोन। एक ही तारीख को उपक्तस्थत होते हैं  J 31 क्तदन। 

वाले महीने की 17 तारीख को सम्मेलन में भाग लेता ह।  J 

और N के बीच तीन व्यक्ति सम्मेलन में भाग लेते हैं  N और 

M के बीच चार व्यक्ति सम्मेलन में भाग लेते हैं, जो J से 

पहले सम्मेलन में भाग लेते हैं  M के बाद सम्मेलन में भाग 

लेने वाले व्यक्तिय। की संख्या, L से पहले भाग लेने वाले 

व्यक्तिय। की संख्या के बराबर ह।  N और P के बीच एक 

व्यक्ति सम्मेलन में भाग लेता ह। 



Ten persons, J, K, L, M, N, O, P, Q, R, and S 

attend the conference on different dates, 17th, 

and 28th of different months, January, March, 

June, September, and November in a year. K 

attends before R but not in January. R attends 

before N. S attends before Q and both attend on 

the same date. J attends the conference on the 

17th of a month having 31 days. Three persons 

attend the conference between J and N. Four 

persons attend the conference between N and 

M, who attend the conference before J. The 

number of persons attending the conference 

after M is equal to the number of persons 

attending before L. One person attends the 

conference between N and P.



A, B, C, D, E, F, and G are seven friends. They 

play three types of games viz. Baseball, Tennis, 

and Rugby. Each game is played by at least two 

players. Each one of them has a favorite color 

viz. Pink, Blue, White, Green, Yellow, Red, and 

Black, but not necessarily in the same order. 

None of the Rugby players likes White or Red 

color. B likes Yellow and plays Rugby. The one 

who likes Black plays the same game as E but 

not as G and D . C likes Blue and plays the 

same game as G. D plays Tennis only with the 

one, who likes Pink. G plays neither Tennis nor 

Rugby. F does not like Black. G likes neither 

Green nor White. D does not like Green. E does 

not like Pink. A doesn't like pink. G play with 

only one person .

A, B, C, D, E, F और G सात क्तमत्र हैं  वे तीन प्रकार के 

खेल खेलते हैं अथाणत  बेसबॉल, टेक्तनस और रग्बी  प्रत्येक 

खेल कम से कम दो क्तखलाक्तडय। द्वारा खेला जाता ह।  उनमें से 

प्रत्येक का एक पसंदीदा रंग ह। अथाणत  गलुाबी, नीला, 

सिेद, हरा, पीला, लाल और काला, लेक्तकन आवश्यक नहीं 

इसी क्रम में हो  कोई भी रग्बी क्तखलाडी सिेद या लाल रंग 

पसंद नहीं करता ह।  B को पीला रंग पसंद ह। और वह रग्बी 

खेलता ह।  वह व्यक्ति क्तजसे काला रंग पसंद ह। वह E ज।सा 

खेल खेलता ह। लेक्तकन G और D के समान नहीं  C नीला 

रंग पसंद करता ह। और G के समान ही खेल खेलता ह।  D 

केवल उस व्यक्ति के साथ टेक्तनस खेलता ह। क्तजसे गलुाबी रंग 

पसंद ह।  G न तो टेक्तनस न ही रग्बी खेलता ह।  F को काला 

रंग पसंद नहीं ह।  G को न तो हरा न ही सफेद पसंद ह।  D को 

हरा रंग पसंद नहीं ह।  E को गलुाबी रंग पसंद नहीं ह।  A को 

गलुाबी रंग पसंद नहीं ह। G केवल एक व्यक्ति के साथ 
खेलिा है।
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play three types of games viz. Baseball, Tennis, 

and Rugby. Each game is played by at least two 

players. Each one of them has a favorite color 

viz. Pink, Blue, White, Green, Yellow, Red, and 
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None of the Rugby players likes White or Red 

color. B likes Yellow and plays Rugby. The one 

who likes Black plays the same game as E but 
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not like Pink. A doesn't like pink. G play with 

only one person .



Eleven people P, Q, R, S, T, U, V, W, X, Y and Z 

lives in a building but not necessarily in the same 

order. There are eleven floors in that building and 

only one person live on each floor. Ground floor 

numbered is '1' and above the floor is ‘2’ and so on 

the top-most floor numbered is '11'. There are only 

three floors between Z and R. Z lives above R . U, 

P and Y do not live on odd number floor. W lives 

immediately below to X. There are only two floors 

between R and X. P lives exactly between R and V. 

Q lives fourth from the top. Y lives immediately 

above to S but does not live above to R. Number of 

person lives between T and Z is same as the 

number of people lives between S and W. R and X 

do not live on the fourth floor. R lives below sixth 

floor.

ग्यारह व्यक्ति P, Q, R, S, T, U, V, W, X, Y और Z 

एक इमारत में रहते हैं लेक्तकन जरूरी नहीं क्तक इसी क्रम में ह।  

उस इमारत में ग्यारह मंक्तजल हैं और प्रत्येक मंक्तजल पर केवल 

एक व्यक्ति रहता ह।  भतूल की संख्या '1' ह। और तल के ऊपर 

'2' ह। और इसक्तलए सबसे ऊपरी मंक्तजल पर संख्या '11' ह।  Z 

और R के बीच केवल तीन मंक्तजल हैं  Z, R के ऊपर रहता 

ह।  U, P और Y क्तवर्षम संख्या वाली मंक्तजल पर नहीं रहते हैं  

W, X के ठीक नीचे रहता ह।  R और X के बीच केवल दो 

मंक्तजल हैं  P, R और V के ठीक बीच में रहता ह।  Q ऊपर से 

चौथे स्थान पर रहता ह।  Y, S के ठीक ऊपर रहता ह। लेक्तकन 

R के ऊपर नहीं रहता ह।  T और Z के बीच रहने वाले 

व्यक्तिय। की संख्या उतनी ही ह। क्तजतनी क्तक S और W के 

बीच रहने वाले लोग। की संख्या  R और X चौथी मंक्तजल पर 

नहीं रहते हैं  R छठी मंक्तजल के नीचे रहता ह। 



Eleven people P, Q, R, S, T, U, V, W, X, Y and Z 

lives in a building but not necessarily in the same 

order. There are eleven floors in that building and 

only one person live on each floor. Ground floor 

numbered is '1' and above the floor is ‘2’ and so on 

the top-most floor numbered is '11'. There are only 

three floors between Z and R. Z lives above R . U, 

P and Y do not live on odd number floor. W lives 
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between R and X. P lives exactly between R and V. 
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do not live on the fourth floor. R lives below sixth 

floor.



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.

आठ व्यक्ति F, G, H, I, J, K, L और M एक ही वर्षण के 

चार अलग-अलग महीन। जनवरी, अप्र।ल, नवंबर और 

क्तदसंबर में सेक्तमनार में भाग लेते हैं लेक्तकन जरूरी नहीं क्तक

इसी क्रम में ह।  संगोष्ठी महीने की 15 या 25 तारीख को 

आयोक्तजत की गई थी  G महीने की 15 तारीख को सेक्तमनार 

में भाग लेता ह। क्तजसमें केवल 30 क्तदन होते हैं  M और J, 

G से पहले समान महीने में सेक्तमनार में भाग लेते हैं, लेक्तकन 

अप्र।ल में नहीं  M, J के बाद सेक्तमनार में भाग लेता ह।  F के

बाद कोई भी सेक्तमनार में भाग नहीं लेता ह।  M और K के 

बीच केवल एक व्यक्ति सेक्तमनार में भाग लेता ह।  H और L 

दोन। अलग-अलग महीन। की 15 तारीख को सेक्तमनार में 

भाग लेते हैं  L क्तदसंबर में सेक्तमनार में भाग नहीं लेता ह।  L 

और मैं एक ही महीने में सेक्तमनार में भाग लेते हैं 



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.



Some boxes are stacked one above the 

other. Box D is placed below Box B but not 

immediately below Box B. Box D is placed 

exactly between Box J and Box K. Box E is 

placed above Box H. Box F is not kept 

adjacent to Box B. Box G is kept 

immediately below box K. Box I is not at 

the top of the stack. There are three boxes 

above box B. There are three boxes 

between J and I. There are two boxes 

between Box A and Box J. Box C is placed 

immediately above Box F. There are two 

boxes between box B and box K. There are 

two boxes between box G and Box F.

कुछ क्तडब्बे एक के ऊपर एक रखे हुए हैं  बॉक्स D को 

बॉक्स B के नीचे रखा गया ह। लेक्तकन बॉक्स B के 

ठीक नीचे नहीं रखा गया ह।  बॉक्स D को बॉक्स J 

और बॉक्स K के ठीक बीच में रखा गया ह।  बॉक्स E 

को बॉक्स H के ऊपर रखा गया ह।  बॉक्स F को 

बॉक्स B के क्तनकट नहीं रखा गया ह।  बॉक्स G को 

ठीक नीचे रखा गया ह।  क्तडब्बा K. क्तडब्बा I ढेर के 

शीर्षण पर नहीं ह।  बॉक्स B के ऊपर तीन बॉक्स हैं  J 

और I के बीच तीन बॉक्स हैं  बॉक्स A और बॉक्स J 

के बीच दो बॉक्स हैं  बॉक्स C, बॉक्स F के ठीक 

ऊपर रखा गया ह।  बॉक्स B और बॉक्स K के बीच 

दो बॉक्स हैं  क्तडब्बा G और क्तडब्बा F के मध्य दो 

क्तडब्बे हैं 
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There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East

आठ कारें A, B, C, D, E, F, G और H एक 

क्तनक्तित दरूी के भीतर एक पाकण में हैं  कार A, कार 

B के 8 क्तकमी पवूण में ह।, जो कार D के 9 क्तकमी 

उत्तर में ह।  कार C, कार F के 5 क्तकमी दक्तक्षर् में ह।, 

जो कार G के 6 क्तकमी पक्तिम में ह।  कार G, कार 

A के 4 क्तकमी उत्तर में ह।  कार E, कार C के 8 

क्तकमी पक्तिम में ह।  कार H, कार E के 2 क्तकमी 

दक्तक्षर् में ह।  कार G, कार C के संदभण में क्तकस 

क्तदशा में ह।? 

1.उत्तर 

2. दक्तक्षर् 

3. पवूण 

4. दक्तक्षर्-पक्तिम 

5. उत्तर-पवूण
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